a(6 @) (rad)
a(d cot(B))

4

107°E: T
[ - AT R AR AR
2 : 2 N + 4T :
T 2 [ & AR A DU N b S
o " o C i :
r 0.5 J
-1 2 3 -1 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamlinélf)
—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_original-127
—— DQM_TT__mkFit-DQM_updated-127
£ £
S i
~ ~
o]
o 107} 2
o I S}
107"

il r o kel F T
g Elwrmdall L) g i
0.5f- =t :
= % > 3 - ha -+ > 5
10 1 TPl[g)T (PCA f%)obeamlinép 10 1 TPl[g)T (PCA f%)obeamlinép
1

5 f ol [ :

O At 5 1 1 | IR SR R
NS N
Ertll g
10 1 TPl[:g)T (PCA t%)ol?)eamliné)o3



	Contents
	Page 1


